
SAP ABAP table V_OBJECTID {Generated Table for View}

V_OBJECTID

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

OBJID [RAW (16)]

TMSTAMP [DEC (15)]

OBJECTID [CHAR (10)]

OBJTXT [CHAR (50)]

SPRAS [LANG (1)]

OBJID_C [CHAR (32)]

STATUSARCH [NUMC (1)]

COMPONENT [CHAR (4)]

EXT_HEADER_REF [CHAR (35)]

SUBID [NUMC (5)]

EVENT [CHAR (20)]

ITEMNO [NUMC (10)]

ITEMNO_EXT [NUMC (10)]

ITEMTXT [CHAR (50)]

CURRENCY [CUKY (5)]

EXCHG_RATE [DEC (9)]

QUANTITY [QUAN (13)]

UNIT [UNIT (3)]

BUKRS_REF [CHAR (4)]

OBJID_REF [RAW (16)]

SUBID_REF [NUMC (5)]

SUBID_STG [NUMC (5)]

UIID [CHAR (12)]

EXT_POS_REF [CHAR (35)]

FREE_POS_REF [CHAR (35)]

CONTSTARTDT [DATS (8)]

CONTENDDT [DATS (8)]

LEASTARTDT [DATS (8)]

LEASOPTEXEDT [DATS (8)]

TERM [NUMC (3)]

REM_USEFUL_LIFE [NUMC (3)]

PRODUCT [CHAR (18)]

USEDPRODUCT [CHAR (1)]

CUSTGROUP [CHAR (2)]

SALESORG [CHAR (4)]

DIS_CHANNEL [CHAR (2)]

SOLDTO [CHAR (10)]

INSTAT [CHAR (10)]

FINPROD [CHAR (18)]

FINCLAS [CHAR (2)]

BP_USAGE [CHAR (1)]

DEVICECLASS [CHAR (10)]

OPTIONID [CHAR (2)]

CLASSIF_LOCAL [CHAR (2)]

CLASSIF_GROUP [CHAR (2)]

CLASSIF_LO_FLAG [CHAR (1)]

CLASSIF_GR_FLAG [CHAR (1)]

CLAS_CUSTOMER [CHAR (2)]

BUS_AREA [CHAR (4)]

CLASSIF_LOCALBK [CHAR (2)]

CLASSIF_GROUPBK [CHAR (2)]

CLASSIF_LOBK_FL [CHAR (1)]

CLASSIF_GRBK_FL [CHAR (1)]

INTRATE [DEC (7)]

PROC_INDICATOR [NUMC (1)]

BU_ID_NUMBER [CHAR (60)]

BU_ID_TYPE [CHAR (6)]

BU_PARTNER [CHAR (10)]

BEMOT [CHAR (2)]

BUAG_ID [CHAR (12)]

TMSTAMPADJ [DEC (15)]

PROCMODE [NUMC (1)]

LOGHANDLE [CHAR (22)]

TMSTAMPREV [DEC (15)]

ALLOCATION_ID [CHAR (16)]

TMSTAMPESP [DEC (15)]

RUNID [NUMC (10)]

BUS_SCENARIO_ID [CHAR (16)]

FIELD01 [CHAR (20)]

FIELD02 [CHAR (20)]

FIELD03 [CHAR (20)]

LESSOR [CHAR (10)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 V_OBJECTID-SOLDTO = KNA1-KUNNR 0..N

1

T151

MANDT [CLNT (3)]

KDGRP [CHAR (2)]

 V_OBJECTID-CUSTGROUP = T151-KDGRP 
0..N

1

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 V_OBJECTID-SALESORG = TVKO-VKORG 

0..N

1

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 V_OBJECTID-DIS_CHANNEL = TVTW-VTWEG 

0..N

1


